BB (YENfELAER)
(A=9EAE)

B, IEMFH KM BAIK,;
KE, K Rk 2 IET;
f#3C, {EHZER ca=0a=1 oc=2;
37 oa*0a*0c=1+1-°2=2;

A
]
/ ) -
13 0 (A e
EEERE1

Cui Rongya s law of making

n-times cube

It is known that the side length of the ppsitive cube is 1 unit length; The volume is 2 cubic;
Solve the real, and make the line segment OA = 0A =1
and OC =2, Long culic OA*OA+0OC=1+1+ 2=2
1.OA+OC=0H"*OH;
2. C1 is obtained by dividing the angleAHC into three parts;
3. Connect HC1, and make the vertical line of HC1 through hto get A1, oal-+ocl1=oH* oH;
Because OA* OC=0C1+0A1=0H+*OH; oa*oa-*oc=(oa*ocl) +o0al; oa-*ocl=oal-oal;
So OA « OA - OC=0A1+ OA1+ OA1 Long cubic = positive cubic (constant volume)
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Cui Rongyan's law of making
n-#imes cube

It is known that the side length of the positive cube is 1 unit length; The volume is 2 cubic;
Solve the real, and make the line segment OA = OA =1
and OC =2; Long cubic OA*OA+OC=1+1+ 2=2
1.OA+-0OC=0H"+OH,
2 C1is obtained by dividing the angleAHC into three parts;
3. Connect HC1, and make the vertical line of HC1 through h to get A1, o0al+ ocl=oH* oH;
Because OA - OC =0C1+ OA1=0H+OH; oa*oa*oc=(oa*ocl) +o0al; oa*ocl=oal-oal;
So OA + OA + OC=0A1 -+ OA1+ OA1 Long cubic = positive cubic (constant volume)
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Cui Rongyan's law of making
n-}times cube

Itis known that the side length of the positive cube is 1 unit length; The volume is 2 cubic;
Solve the real, and make the line segment OA = OA =1
and OC =2, Long cubic OA*OA+0OC=1+1+ 2=2
1.OA+-OC=0H"*OH;
2.C1is obtained by dividing the angleAHC into three parts;
3. Connect HC1, and make the vertical line of HC1 through hto get A1; o0al+ oc1=oH * oH:
Because OA -+ OC=0C1+OA1=0H* OH, oa+*oa+oc=(oa*ocl)+oal; oa+ocl=oal-oal;
So OA+ OA + OC=0A1+ OA1+ OA1 Long cubic = positive cubic (constant volume)
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Cui Rongyan's law of making
n-times cube

3. #EHc1, FHEHAELSa ;
| oal * oc1=0H * oH;
| ER oa * oc=oc1 *» oal=0H * oH;

.\ oa * 0a * oc=(0a * oc1) * 0al;
< MR oa * ocl=o0al * oal;
" - FrkL oa + 0a * oc=0a1 * 0al * oal
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It is known that the side length|of the positive cube is 1 untt length; The volume is 2 cubic;

Solve the real/ and make the line segment OA = OA =1
and OC =2, Long cubic OA*OA+-0OC=1+1+ 2=2;
1.OA-0OC =0H"* OH;
2. C1is obtained by dividing the angleAHC into three parts;
3. Connect HC1, and make the vertical line of HC1 through h to get A1, oal+ ocl=oH * oH;
Because OA « OC =0C1+0OA1=0H~*OH, oa-o0a*oc=(oa+ocl)+oal; oa-*ocl=oal-oal;
So OA - OA - OC=0A1+ 0OA1+ OA1 Long cubic = positive cubic (constant volume)
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